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Lesson One

TEXT: Sir Robert Watson Watt
WORD STUDY: 1. ‘use
1I. agree
III. arrive
GRAMMAR: I dxmRi
I w3 sdkent
TEXT ;

Sir Robert Watson Watt!

How do we find aircraft far away in the sky? Soldiers
used to have an instrument which found them from the
sound of their engines. It did not work very well, and
we have better instruments now. A plane can be found
when it is far away, even when its engines are not
working. This is one result of the work of Sir Robert
Watson Watt.

During the first part of his life, Watt studied
weather and storms. He used radio waves in his work,
and directed them up into the sky; they were sometimes
reflected back to earth by the jonosphere. This gave
him valuable information.

There were some strange ideas about electromagnetic
waves before the Second World War. One was that a
death-ray could be produced, which would kill enemies
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Lesson One

far away. In 1935 Watt was asked to make a death-ray.
Watt did not believe that. this was possible but he
agreed he would study the matter.

After he had made some experiments, he discovered
that it was not possible to produce a death-ray. But he
wondered whether an aircraft would reflect a radio
wave. If it did that, it would be useful. '

There is a big radio station at Daventry’ and he
decided to. make ébme experiments with its waves. He
made a special radio receiver which had a glass screen
like the screen of a modern television set. When no
signal was arr1v1ng, the screen showed a white spot
only; but if a 31gnal reached the recelver, the spot!
chianged to a line. ) o '

A pilot then took an aircraft up and. Watt watched
the spot.- Suddenly it changed to a line! The plane was
reéflecting the waves from Daventry and they were sent
back from the sky to the receiver.

o - Watt built a special
,ER transmitter to send out

// - \\ ’ vthe necessary waves, and

// c '\\; Cole trie.d again with that.

k : B Heé and his men suddenly
Transmiter “Receiver  qaw a lot of reflections,

and Watt cried, “There are three aircraft up there!” He
was “tight. By chance three aircraft had crossed the sky
and his transmitter “ had found them. This was the

~ beginning of the science of radar.
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Lesson One 8
NEW WORDS

sir [so:] n. &, BT;B+6 XB)

aircraft ['eekra:ft] n. (BER) ALZ5; &

soldier ['souldze] n. + 5 &K+ )

instrument ['instrumont] n.> %3¢, T .H; %8

engine ['endzin] =n. kML, 5[5

weather ['weda] n EXK

storm [stom] = W . :

direct [di'rekt, dai'rekt] of. $85]; 458 e 3B H— H 5 (FH F)
vi. g%.HE
a., ad. ZEN (), HEH )

oy 1onosphere [a1 onasfxe] n HEE

11.
12.
13.
14.
15.
16.
17.
18.

19.
20.
21.
22.
23.
24,

25,

. valuable [vzeljueblj a. mﬁﬂ’] B {E Y, im&'}

. [ﬁaﬁﬁglmi%nn
information [info' meljen] n. &4, ﬁﬁ,fﬁﬂ—
strange [strexndz]‘ a. FFEM
war [wo:] n. %
death-ray ['ded-rei] =n. 3£k
kill [kil] . X3 -
enemy ['enimi] n. #HA
agree [o'gri:] o. AE, BR, &8
wonder ['wandeo] ». {REE; HaE

. E R
special ['spefel] a. #§Zkf, %%IJB’J,%HH’J,?}W’J
receiver [ri'si:ve] n. HIHL; BT
screen' {skri:n] n. B, #; 56k R
modern ['modan] a. f)lﬁﬁ‘],%?itaﬁ
arrive [o'raiv] vi. F, T AF
pilot ['pailet] = 6475 WALA
necessary [‘mesisori] & S ER, BEM



26.
27.

28.
29,
30.

Notes:
1.

Lesson One

reflection [ri'flekfen] n. K5t B & RATIK
cry [krai] of. Ry RAEHE

vi. P 58

cross [kros] v. A, 8xt; 8k
beginning [bi'ginig] ». FF4h, 75k
radar ['reide] n. 35, TR B HEME

PHRASES AND EXPRESSIONS

used to (inf.) X HEEE (), T E L (5D
send out Ri%; BH
by chance BR; B5hih

2.

Sir Robert Watson Watt ['robat'wot-sn wotl: BIa%E - IRE -'E
FERS 1+ (1892—1973), ZEEBHHE¥ K.
Daveniry ['devuntri]: BocEE, RERT,

EXERCISES TO THE TEXT

A Answer the following questions:

1.

A

N

How did soldiers find distant aircraft before the invention of
radar? (

What did Watson Watt study during the first part of his life?
Why did he direct radio waves up into the sky?

Did Watt believe that a death-ray could be produced?

What did Watt discover after making some experiments?

Why did Watt decide to make some experiments with radio
waves?

Where did he make his ¢xperiments?

What did the screen of Watt’s radio receiver look like?

. What was seeri on the screen when a signal reached the receiver?
10.

Why did Watt and his men see a lot of reflections on the
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screen?

B ranslate the following phrases and expressionst

1.

L e B L L

Fd et e
.IBWN'-‘O

15.

used to make engines for cars
send out great amounts of radiant energy
be directed at the enemy plane far away

-ask his men to study the matter

produce the necessary radar beams

find the distant aircraft by chance

cross the mountain in half -an hour

HEBREIFK yiad 4o v Q/Veus/dw
PR B A Sord ouf Viawk owd ket €0 fo carih
HEBRMNWIIE divect eswr we YK Yodi®

. BRRITBGESA TS EEHL b us 40 proweveThs Rceiver
L FELHHE  OYVive bofove Pokegfiry of ey
. BB SAALMNEIL Jut Lie o Widern

\ L»u.
BRRILT —F R4 R diseovey & kind af vt by

REWBEEHE a0 Ha vtee), in.

C Choose among A, B and C according to the text:

1. Before the invention of radar, airplanes were found

2.

3.

A. with a TV set.

B. from the sound of their engines. |

C. by a death-ray.

During the first part of his life, Watt

A. used radar in his work.

B. used rockets to direct electromagnetic waves, *
C. used radio waves to study weather and storms, '
Before World War II it was thought that a death-ray could
be produced, which

A. would kill enemies far away, '

B. would find aircraft in the sky.

C. could give people valuable information,’
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4. Through his experiments, Watt discovered that
A. it was possible to make a new weapon.

B. it was possible to find a plane with a death-ray,
C. it was impossible to produce a death-ray.

5. Watt decided to make some experiments at the Daventry radio
station to see
A. whether an airplane would reflect a radio wave.
B. whether it was possible to build a new type of transmit-
ter. ' '
C. whether he could make a modern television set.

6. Watt and his men saw a lot of reflections on the screen,
because
A. the transmitter did not work well.

B. the aircraft was flying too fast.
C. there were three aircraft up in the sky. )

D Fill in the blanks:
1. Fill in each space with one of the given words or expressxons'

sentggut a&rg)cd was iving, %ld crq?mg, by ﬁmncc,

weudered, worbwel] shduld, use be, W ked

1)®Ilere S & small factory at gze corner o@d street.

2) As the radar instrument we use does not ., we must
make some improvements in 1ts structure (&% #g)

3) He ____ to help the students in thelr studles of ibhosphere.

4) We all

5) When we arrived at the radio station, the message “of a suc-

that we

work out a new plari

cessful moonlanding had already been -
6) I met Comrade Li ___ yesterday when 1 was_._;_ the

street.
7) The reflections on the screen showed us that a signal

8) They —__ if the special transmitter necessary for our experi-



2. Fill in the blanks with prepositions listed below: o
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ment g?_ be built in time.

to, like, from, about, by, at, during, into : 9 e

1) We’ll know whether it’s a big airplane or a helicopter T
the sound of its engines. o\W“W

2) He spent a lot of time studying the planet I the early
part of his life.

3) The firemen ({HBHFPAR) ‘directed the Jet of water (nﬁ&“—'{‘m{
) ﬁ@lhe room.

4y That technician (A R) who has been asked to study the

matter has new ideas *P¥ electricity.

5) The white spot on the screen changed l“_“?a line, because a
signal had reached the receiver. '

6) Can you tell me if there is a power station at Daventry?

7) Just % heat waves, radar waves are electromagnetic
waves.

*8) The enemy planes were found only _1’% chance beforé the

instrument was invented.

E - Translate the Chinese in the brackets into English:

1.

CEETEEBEBRBRT),

so you don’t need to worry ({#H.») about it.

: (}\ﬂlx.ﬁi-f'nsy\ﬁi%ﬁfﬁml
HF7k), but now the water is so polluted that it is unfit for
drinking.

They were told that by using radar

(FALERES B L),
(RNVFF R ULRED sucha

daﬁgerous (ﬁlﬁ{‘jﬁ‘g) experiment.
Watt knew that there were some planes in the sky,

(HARERELER TS

BAtE).
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F Translate the following sentences into English?

1. AMMYSERBRBX—%REMLNEA,
EBGELIA, BEHESBET — BB &M,
EHBaESSETRETLEEkm R kR,
BRI — T (on) EX KR,
REFHEEMASRBARBEERHA,
AECHF AT FRE R AT, FRABETLL “BA"EAN
R,
7. H—STHESHIIEKE (solid objects) B bk R 4T EIR, H

i, SENESHIEE FRURRE PN, ENRBERSHE
F, ANV IZ U (widely) B X & R 5T,

WORD STUDY
I. use BURE

N

W%k, WX #l 4

vi. Electric energy is widely used in industry.
R, #H HEEE T LERASRITE,

n Radio has a lot of uses.

Mg, Ak Pt LR E i

used to (inrf.) People used to burn kerosene to get light, but
EEEH U now they use electricity.
AR ATEENREYE, MR EFEASRT.

be used to He is used to hard work.
ST fib 3118 F R B T,
make use of We must make full use of the energy from the
F A sun.
B 1L FE 4> FUA K AR,

II. agree RYAE
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W%k, AL Bl 4
v. They agreed to help us.

®E, AR fi {12 BB RN,

I agree that we should spend more time on
English.

ﬁﬁﬁ&ﬁ]ﬁ&%i&bg?ﬁﬁﬁﬁe

agree to Do you agree to such a decision?
7R, A% WRELX R E D
agree with He quite agrees with you.

HeERL—% | BRARKHEL.

I am far from agreeing with what you say.

REBRFRBRFBEGIE,
Note:
agree to JEE — R EH, B TR, "%, W agree with JFE—
BEA, WAEBERBL, BE BRSO TF, -
III. arrive B9RE o
gk, #L # LI
vi. Mr. Smith will arrive by ten o’clock.

2, *3 ST A BB A BB,
The delegation arrived in China yesterday

morning.

RAREAGR EFEZEDE,

He arrived at the institute in time. ]

it B B B B2

arrive at It took us a lot of time to arrive at the conclu-

sion.

EBEL AN RITET F S HA 8 HX AR, )

They finally arrived at a decision on the matter.

BRI X A F RN T o,
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Note -
- arrive Eﬁiz‘:“@}é”kmi&& B kIR SR, A ins R
“ﬁJﬁ”/J\H’Ji{ﬁ.-éi,!zu“#"&”, CEMEER—BEA at,

EXERCISES

A Translate the following sentences into Chinese, paying attention o'
.. the meaning of {éz_tge”_, “arrive”, and“agree’:
1. He used to do»expeﬁments with these tools and déviées. J‘W
2. Steel is of great use in industry.
3. We are used fo living in the countryside. ‘ _
4. The laser in the shop is used to make holes in steel.
5. What did early (R #]8) sallors &%) make use of to flnd
their way across the sea?
6. He agreed to direct me to the Museum -of the -Chinese-- Revo-
- 1utlon
7.‘ He agrees that we should work out a new plan. ]
Did they arrive in Shanghai safely?
9. How did you arrive at that good idea?
-10. Watt-arrived at the conclusion(£5ig) that it..was. impossible to
produce a death-ray.

B lel m the blanks wzth the proper words and pkrases in the brack-
ets. . ;
1. Soldiers __ (was used to, used to) find airplanes from the

sound of their engihes, but now they make ﬁse of a radar. ‘
2. He lived in the North (:{[:75‘) niany years, so he ____ (used
.. to,.is used to) cold weather,.

3. My younger brother does not watch TV as often as he
(used to, was used to). C

(with, to) the new method.

"(with, to) Xiao Li in thinking that the

new instrument should be made a little smaller,

4. The workers have agreed

5. They‘ all agreed




